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1. AIE=0ll t||EI tlllllAl8el +E UIL!= ??gLlIf?(5:28) Whar is the hish
priest's primary accusation against the apostles?

2. )lgtlgol Lli 
== +3E tsal= eE6l^l"(5:34-39) :19 959 

=lt=??gt-lrl?(5:40) Summarize the logic of Camliel's argument and what is

the result of his speech?
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3. AIE=3 0l Elt(6:j)0it !t6tG oJE 6H=E= rjt^tilGLt,l? e]t tB r.ilgf=
-il=Llrf? What solution do the apostlles recommend for this problem?

4. DAq g= 
=E'A =+= +?01fl*Llrl,?(6;7) what is the resutt of

deviding the work of the church?
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